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QUESTION 1

Assuming you are using HFM Version 11.1.1.3, identify the three true statements about Calculation Manager. (Choose
three.) 

A. FMRulesMigrator.exe will migrate VB scripts into business rules in Calculation Manager. 

B. There is no utility to migrate VB script rules to Calculation Manager. 

C. In Calculation Manager, you can toggle back and forth between the graphical and script mode. 

D. In Calculation Manager, you can create one script that can execute against both a Financial Management application
and Planning application. 

E. To use a business rule, you must validate and deploy the business rule. 

Correct Answer: ACD 

 

QUESTION 2

Into which Value dimension member can a journal be entered? 

A. [Parent Adjs] 

B.  

C. [Entity Adjs] 

D.  

E. [USD] 

Correct Answer: A 

 

QUESTION 3

How many members Lists can you load at one time? 

A. 1 

B. 2 

C. 4 

D. 10 

Correct Answer: A 

 

QUESTION 4
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How does the FM administrator manage the Intercompany Partner dimension? 

A. By selecting and deselecting the IsICP field on the entity member properties 

B. By selecting and deselecting the IsICP field on the account member properties 

C. It cannot be maintained by the administrator. FM automatically creates the ICP dimension to match all members in
the Entity dimension. 

D. It cannot be maintained by the administrator. FM automatically creates the ICP dimension to match all members in
the Account dimension. 

E. Using the Dimension editor in the same way as a custom dimension or Entity dimension 

Correct Answer: A 

 

QUESTION 5

In a scenario with the zero view set to year-to-date, if January is $30 year to date and March is $90 year to date, what
value does FM calculate for February year to date if no data is loaded? 

A. 0 

B. 30 

C. 45 

D. 60 

E. -30 

Correct Answer: D 
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